INDEX RULES —
MULTIPLICATION Questions M, D. J™*"

M=T

DIVISION Questions O = o = Q.

1. Write in expanded form (showing all factors)

1. Write in expanded form before
before writing down the answer:

writing down the answer:

(a) @' x a* = (a) "g =
(b) £ x ¢! - 2. Find, showing the middle (subtraction) step:
" (a) a®+a® =
2. Find, showing the middle (addition) step: -
(a) d°xd® = (b) b7+ =
(b) g*xg - (© M+t =
E) et = 3. Find:
= (a) &+ d' =
3. Find: b) K =
(a) s*xs* = (€) Y4yt =
(b) &x e’ = (d) P+x? =
@ Kixh = (@) p+p* =
Wexe = » () T -
(e) r‘.:-c plt = (@ B +b = )
® pxp E (h) A"+ i =
(2) Fxt G (i) e =

(h) @ xa*xa® =

() e+e =

.
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(i) B*x b xb = ® 2+ =
() 2xxg = M) n+nt =
(k) pPxy’xy = 4. Find:

4. FindI: (a) 12g"+2g*=
(a) 2% 3! = (b) 8K+ 4k =
(b) 5/ %2 = (c) 15n"5+5n° =
(0 8gxdg = () 9s'+ 958 =
(d) 6 x 6l = (&) 28¢"+ 74 =
(e) 45" x ds - 0 18"+ 6¢ =
WLARE § (2) 10p"+5p° =
® xS = (h) 24° + 8¢ =




What did Santa's wife

Simplify the expressions given, leaving your answer in index form.
Each answer and letter beside the question gives the puzzle code.
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exaxXxexexexe a" x a

b % b® x b* a®b x a'p®

26 % 3e® a' % a x a®
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2n° x b® x 3b° 2ab x 3a® x 2p®

Who is SHERE-KHAN?

Simplify the expressions given on the lef, leaving
your answer in power form. Join the dot next

to each question to the dot next to its answer

on the right. The lines will give the puzzle code.
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